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! K 1. Find the solution(s), if possible, to this equation: 0 = av? + bx + ¢
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{ 4 3. Find the solution(s), if possible, to this equation: 10 = ax? + bx + ¢
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2. Find the solution(s), if possible, to this equation: —8 = ax® +bx+c
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4. Find the solution(s), if possible, to this equation@: ax® +bx+c
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[ ] 5. Find the solution(s), if possible, to this equation: 5 = ax? + bx + ¢

Solution(s) is(are):
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An object is shot upward from the top of a 75 foot tall tower with an
initial velocity of 136 ft/sec. The following equation models the height
of the object as a function of time:

h(t) = -16t* + 136t + 75 VERTEX ‘f,Q
1. Find the time it takes to reach itheight. (7 255[&/ % )
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2. Find the time it takes to reach a height of 250 feet.
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| A .
Qﬂr::sﬁ /\;\/\\5 o
o ne 2
ot : J
2 )
{ ] ‘ 1_r
ll ° ’f 7. Find the value of b. b=
{ |
1 i N . M
/ Lbs l - C;q ]9
- —_.:b— o -/L{/_‘ e

8. Find the value of c. c=

»
/
Iy
—=
Al
S5

3. Find the time it takes to reach the ground— |, =»
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4. Find the time it takes to reach a height of0 feet> h =50
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5. Find the time it takes to reach a height of.400 feey =
A= AtL 3t ? L
o=totiHat -3 o RIETNGER 5 pciile
bedges - 2304 —"" o FEAGES THISHE  mAcwr wag oY
G4



